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Number rows in the stadium = ___

Solve the following problems using ones, tens and hundreds.

PROBLEM SOLVING

1) A cricket match is being conducted in Subhas Chandra Bose stadium. 800 tens

    chairs were fixed for the spectators to enjoy the game. Each row have 100 tens

    chairs. How many rows were there?

we know that

___ hundreds equal to ____ tens.

10 tens = __ hundred By taking 100 dollars as 100

Number of chairs fixed in the stadium  = ____  tens.

Each row have  = ____  tens chairs.

= ___ tens.

= ___ tens.

= ___ tens.

= ___ tens.

= ___ tens.

= ___ tens.

= ___ tens.

= ___ tens.

100 100 100 100 100 100 100 100 100 100

100 100 100 100 100 100 100 100 100 100

100 100 100 100 100 100 100 100 100 100

100 100 100 100 100 100 100 100 100 100

100 100 100 100 100 100 100 100 100 100

100 100 100 100 100 100 100 100 100 100

100 100 100 100 100 100 100 100 100 100

100 100 100 100 100 100 100 100 100 100


